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No TH(EE) O&H TH (@D B AR | AAL#TE smEE Angs | DEME | PEM@E | SEMREE | SEHREE EALIRRE gk |z
WA REER (R) 31,650,000
HHEE R 31,590,000
TG 31,570,000
(B HrIAHEH 31,530,000
#RLEAR 31,600,000
EHEE W 31,800,000
BUIREE (FF) 31,680,000
) (B)KEATHIE 31,800,000
1 [6E# TEG2-1EREHFEIE(ZNDI) |MEHEREFHMA _%@fffi TH6FESA6H | (BR) BEAKRE R 31,680,000 35,110,000 38,621,000 31,720,000 34,892,000 fE L% (%) 31,730,000 34,903,000
DRAEERT X (%) 31,640,000
(k) £ HE 31,780,000
HIET L > F v — (%) 31,750,000
K (BR) 31,550,000
EIEGR 31,730,000
(B)IMRIE 31,630,000
(B) % 31,670,000
KB (K) 31,780,000
EHEE ) 19,600,000
BT %K) 19,790,000
FILER () 19,690,000
O ELEA 19,600,000
2 (6THHIF SHEIIRBHELS FREL TG IE H A _%;%%E%L SF6E8H6H fifiﬁif%;r& TZ:?:)ZZEZ 21,910,000 24,101,000 19,670,000 21,637,000 LR () 19,690,000 21,659,000
(%) e 19,780,000
(#R) R 19,740,000
KR (BR) 19,800,000
(B)EEIE 19,760,000




